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6-1-17

Aim:  SWBAT review for the final exam.

Do Now:  Estimate the volume and surface area of each 
figure. 

HW:  3-D Assessment tomorrow (Open notes)
   Final Review Packet due tomorrow
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11.2 cm

9.3 cm
6.7 cm

Rectangular Pyramid

Find the estimated surface area. Find the estimated volume.
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13.7 cm

11.5 cm

4.3 cm
4.4 cm

Triangular Pyramid

Find the estimated surface area. Find the estimated volume.
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5x ­x2y 3y ­7
5x ­x 2y 3y
5 ­1 2 3
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10x + 30 ­10x ­ 30 10x ­ 30 ­10x + 30

xy + xz ­xy + xz ­xy + xz xy + xz
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7x + 2 ­2y + 5z 2y + 9z ­ 7

5x + 8y ­ 6 ­a ­ 13b + 7 20 + 10y ­ 27 ­ 3y

7y ­ 7

GCF: 5 GCF: 3x GCF: 4 GCF: 4y

GCF: 2xGCF: 5 GCF: 5

2x (1 ­ 2y)5 (­3m + 10) 5 (3a ­ 4b + 2c)
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9x + 27y
9(x + 3y)

8x ­ 6x + 8 + 2

2x + 10
2(x + 5)

6x + 18
6(x + 3)

4c - 6 = 2

4
4c  =  8

+ 6

4

+ 6

c = 2

-4 = 2x - 2

2
-2  =  2x
 + 2

2

+ 2

-1  = x

-5 = 3m - 14

3
9  =  3m

 + 14

3

+ 14

3  = m

0 = 8z + 8

-8
-8  =  8z

 - 8

-8

- 8

-1  = z

** Checks for #'s 1 ­ 4 on Next Slide **
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4c - 6 = 21
2

3
?

2 = 2√

4  2 -6 = 2
8 - 6 = 2

?

check #1

-4 = 2x - 21
2

3
?

-4 = -4√

-4 = 2  -1 - 2
?

check #2

-4 = -2 - 2

-5 = 3m - 141
2

3
?

-5 = -5√

-5 = 3  3 - 14 

-5 = 9 - 14

?

check #3
0 = 8z + 81

2

3
?

0 = 0√

0 = 8  -1 + 8 

0 = -8 + 8 

?

check #4
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